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inta=10, b =8, c; -

If(a >= b)

5 10
c = a+b; b 8
else c
c = a-b; RAM

System.out.print(“c =" + c);



15y SR F BB

L ot
/ﬂLJ%D7K?
inta=10, b =8, c; -
If(a >= b) ] -
c = a+b; b 8
C= C-l; C

System.out.print(“c =" + ¢); RAM



1E5Y SR F BB

Cr L o+£
/ﬂLJ%D7K?
If Iy == 2) y 0
X = (2+1)%15 y -
System.out.print(“x =" + x); , 40

RAM
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int p=30,q=20, r=15;

If(p >= 25 && q<50) -

30

r=p/r; 0
20
else q
r 15
r=p-r;

System.out.print(“r =" +r); RAM
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;DLJéD7K
intp=30,q9=20,r=15; -
If (p >=25 || g<50) ; -

r=p/r; q 20
else ; 15
r=p-r; RAM

System.out.print(“r="+r);
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public class loop_1 {
public static void main(String|[] args) {
int a = 20;
intb=15;
int i=0;
while (a>b) {
I=i+1;
a--;
}//while
System.out.printin("i="+i+" a="+a);
}//main
}//class
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400 P&

int a = 10;
int b = 20;
int 1=0, j=0;:

System.out.println("1="+1);
while (a>b) {
1=1+1;
System out.println("1="+1);
}//while
System.out.println("1="+1);

False

True

/\\\E%’ZLI:- /‘% ?

75 2] B&| ?
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JENES

False

True

j=0;
a=10;

System.out.println("j="+j);
while (a>=30) {
1=]+1;
System out.println("j="+j);
Y/ /while
System.out.println("j="+3);

// while (false) { //cause compile error
[/ System.out.println("loop-4");
[/ Y}/ /while
}//main
y//class

HHEES 7[0] 5| ?
75 2l B&| ?




=

(ﬁ/
af
_

False

True

public class loop la {
public static void main(String[] args) {

@nt a = 10;
int b = 20;
int 1=0, j=0;

System.out.println("1="+1);
while (a>b) {
1=1+1;
System.out.println("1="+1);
Y/ /while
System.out.printIn("1="+1);

System.out.println("j="+j);
while (a>=30) {
j=)+1;
System.out.println("j="+j);
}//while
System.out.printin("j="+j);

// while (false) { //cause compile error
/] System.out.println("loop-4");
/] }//while

}//main

}//class



JE i 4l 5] 2
public class loop 1b {
public static void main(String[] args) {

int a = 10;
int b = 20;
int 1=0;

System.out.println("1="+1);

while (true) {
False 1= 1_|_1
System out.println("1="+1);

Y/ /while
[/System.out.println("1="4+1);//cause ci

frue Y/ /main
Y/ /class

e true: #EHE %%z =




75 2| n] ] 3 public class loop lc {
151Eﬁt}‘ = public static void main(String[] args) f{

int a = 10;
int b = 20;
! int 1=0;

System.out.println("1="+1);
while (b>a) {
1=1+41;

e System.out.println("1="+1);
5 1f (1>=500) break;
o y//while
System.out.println("1="+1);
}//main
Y/ /class

e if (i>=500) break; //Bk - 1El &
* System.exit(-1); //BkHEE{EFE
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public class loop 1d {
public static void main(String[] args) {

int 1:0’ False
System.out.println("1="+1);
while (true) {
1=1+] ;
System.out.printIn("i="+1); (:E frue
1f (1>=500) break;
b/ /while
System.out.printin("1="+1); break

Y//class
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public class loop_1e {

public static void main(String[] args) {
int a = 10;
int b = 20;
System.out.print("before loop: a="+a+" ,");
System.out.printin((b>a));
while (b>a) {

at++;

System.out.print("inside loop:a="+a+",");
System.out.printin((b>a));

}//while

System.out.print("after loop:a="+a+" ,");

System.out.printin((b>a));

}//main
}//class

before
1nside
inside
inside
1nside
inside
inside
1nside
inside
inside
inside

loop:
loop:
loop:
loop:
loop:
loop:
loop:
loop:
loop:
loop:
loop:

a=10
a=11
a=12
a=13
a=14
a=15
a=16
a=17
a=18
a=19
a=20

,true

,true
,true
,true
,true
,true
,true
,true
,true
,true
,false

after loop:a=20 ,false

True

break

False
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1. 68
=75

el = — N .
ﬁémfiﬁfﬁ—-
E:\java-2017\9-29>jav

E:\java-2017\9-29>jav
%ii_gi$M%§ﬁZ

'66
BMI : 20.37 > %k%h: FENormal
(%E4E (Y/N) -
A S

ac BMI 4.java

a BMI 4

BMI : 26. 57 IREE: I ER
(4%E(Y/N) = N

T0verwe1ght

bye bye
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o tEEF R S HHEE
. equals FERYIE L PRE
* A.equals(B) :“FEEAE L HHZE 5B
e true BY false

o JRFFEREEHA R KB (UpperCase)
e A.toUpperCase()

o BoF ERHEMA B/ NET (LowerCase)

e =B.toLowerCase()

Strlng%é’ KIHY

import java.util.Scanner;
public class case_1 {
public static void main(String[] args) {

Scanner input = new Scanner(System.in);
System.out.print("#@ ASFEEA 1 ")

String A = input.nextLine();

System.out.print("fig ASFZEEB ")

String B = input.nextLine();

System.out.print("A:" + A + "\nB:" + B + "\n\n");

System.out.print(“A equals to B ? ” + A.equals(B) + "\n" );

System.out.print("RFABEHA SRR ~ BEEHA S/ NES\n");

A = A.toUpperCase();

B = B.toLowerCase();

System.out.print("A:" + A+ "\nB:" + B + "\n\n");

System.out.print("A equalsto B ? " + A.equals(B) );

}//main
} //class
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import java.util.Scanner;

public clazs EMI 3
public static void main{String[] arga) |
String ok="Y";
Svaten.ount.println("” el HRE Y "1;
scanner input = new Scanner(sSyatem.in);
double height, weight;
while (ok.tolUpperCaze( ). equala("¥")) {
Svatem.ont.print{"gAES ")
height = input.nextDouble();
Svatem.ont.print{"&ASSE . ");
weicht = input.nextDouble();
double bmi = Hath.round{ {weicht/ (height*heicht) ¥ 100y / 100.0;
String status;

if (bmi < 18.5) ¢
atatug = "HREEEFEUnderveight";

}
elae if (bmi < 247 [/ {bni==18.5 & bni « 24)
atatuz = "EENornal";
}

elae .
statuz = "IEFEOverveight":

Svatem.ont.println("BMI © "+bmi+" » AREE: "+ztatuz);
Svatem.ont.printi"(deas( T/ - ");
ok= input.next().tollpperCasel);
Viwhile
Syaten.ount.printlnf
Yiimain
I}ffclass

hye hye ";
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import java.security.SecureRandom;
import java.util.Scanner;

bt danysl

public class add drill 1 {
public static void main(String[] args) {
SecureRandom sr = new SecureRandom();
Scanner 1nput = new Scanner(System.in);
int nl=0,n2= 0;
int ans= 0;

nl = sr.nextInt(10);

n2 = sr.nextInt(10);

System.out.print(""+nl+"+"+n2+"=");//present question

ans = 1nput.nextInt();

1f (ans== nl+n2) 4
System.out.println("Z&¥%f » GREAT!!\n");

else
System.out.printIn(" &8 » HH!"):
}//main
Y/ /class



public class add_drill 2 {
public static void main(String[] args) {
SecureRandom sr = new SecureRandom();
Scanner input = new Scanner(System.in);
int n1=0,n2=0;
int ans= 0, score=0, i=1;
while (i<=10) {
nl = sr.nextInt(10);
n2 = sr.nextInt(10);
System.out.print(""+n1+"+"+n2+"=");//present question
ans = input.nextint();
if (ans==n1+n2) {
score=score+10;
System.out.printin("Z& ¥} » GREAT!!");}

else
System.out.printin("Z&%E > JIH!");
}//while

}//main
}//class

What’s wrong:>



public class add_drill_2 {
public static void main(String[] args) {

NEESEE

SecureRandom sr = new SecureRandom();
Scanner input = new Scanner(System.in);
int n1=0,n2=0;
int ans=0, score=0, i=1;
while (i<=10) {
//i=i+1;
nl = sr.nextInt(10);
n2 = sr.nextInt(10);
System.out.print(""+n1+"+"+n2+"=");//present question
ans = input.nextint();
if (ans==n1+n2) {

score=score+10;

System.out.printIn("&¥%} » GREAT!! 73 84:"+score+"47.");}

else

System.out.printin("&# > H! 58" +score+"47.");
i=i+1;
}//while

}//main
}//class



e N

1int nl=0,n2=0, cnt=0;
int ans= 0, score=0, 1=1;
nl = sr.nextInt(10);
n2 = sr.nextInt(10);
while (1<=10) {
[[1=1+];
System.out.print("Z"+i1+"8&: "+nl+"+"4+n2+"=")://present question
ans = 1nput.nextint();
1t (ans== nl+n2) {
score=score+(10-cnt);
System.out.println("Z&¥%f » GREAT!! 438 "+score+"47.");
nl = sr.nextInt(10);
n2 = sr.nextInt(10);
1=1+];

Where is the bug? How to revise?

]

clse {
System.out.println("&&s ° JIHE! 778 "+score+"77.");
cnt++:; //cnt=cnt+1;
]

V//while




public class add drill 3a {

public static void main(String[] args) { A A LK _H A
SecureRandom sr = new SecureRandom(); * ':/‘_"EZ(L/{T Eg— ’ E@J 'Il%ﬁéf'ﬂ:
Sc?nnitromgu(t) = nwaScanner(System.m); o BT IRK¥ 1510-197
]-n ni= 3n -V, cnt= ; fl‘fzrl‘ _./L//;-,%A\r = /\
int ans= 0, score=0, i=I: o FIWEY > =10-27;

nl = sr.nextInt(10);
n2 = sr.nextInt(10);
while (1<=10) {
[/1=1+];
System.out.print("Z&"+1+"%&2: "+nl+"+"+n2+"=")://present question
ans = 1nput.nextInt();
1f (ans== nl+n2) {
score=score+(10-cnt); <%
System.out.printIn("&¥%f » GREAT!! 478 "+score+"57.");
nl = sr.nextInt(10);
n2 = sr.nextInt(10);
1=1+1;
cnt=0; )
else {
System.out.println("&&8 » JH! 578 "+score+"97. ") ;
cnt++; //cnt=cnt+]; )

1/ /while
}//main
Y/ /class
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False







if (score<=100 &% score>=90) {

printf ("3  {\n");

1

else 1if (score <90 &% score
printf ("3 : B\n");

}

else if (score <80 &% score
printf ("3 : Z\n");

1

else if (score <70 &% score
printf{("3FE 1 BWn");

H

else if (score <60 &% score
printf("3FE : T Wn");

}

else if (score <50 &% score
printf ("3, : KW");

}

else if (score <40 &% score
printf("3FE : =2W");

}

else if (score <30 && score
printf ("3 : B\n");

}

else if (score <20 &% score
printf{ "3FSE : FT\n");

1

else if (score <10 &% score

printf("3FSE : T\Wn");

}

else if (score == 0) {
printf{"3FSE : KWn");

H

>= 40)

= _:;D)

= 20)

D= 10:]

>0) {

[EETRHI_ L EER S5 EE S

else{
printf{ "SEFIR/ " );
}

-

Single statement

AP

m—)

if (score<=100 bk score>=90)

e lae
elae
elae
e lae
elae
e lae
e lae
elae
e lae

elae

else

-

Svatem.ont.printin("2E [ {8\n");
if (gcore == 80)
Syztem.ont.println("3FSE | H\n");
if (gcore == 70
Svatem.out.println( 288 . 2"y
if (gcore == 60)
Svatem.ont.printin("23EE I H\n");
if (gcore == 50)
Syztem.ont.println("3FE | T'\n");
if (gcore == 40
Syatem.ount.println("Z3E | fa");
if (=core =40 &f zcore == 300
Svatem.ont.printin("2EE I 2n");
if (gcore == 20)
Syztem.ont.println("3EE | E'\n");
if (geore == 10
Syatem.ont.println("23E | 2\n");
if (gcore =03
Svatem.ont.println("3EE  Fn");
if (gcore = 0
Syztem.ont.println("3FSE | =",

Syaten.

ST L ER  SA AL

out.println("EEEEE L")



switch case
Y45 H)




ML

5 EEIES R swich case
o Switch: = BfHE - VA
e CASE: ZZH|
e Default: THZS

switch/ NEJLA By—HE T+ SFELHIRBRE - F8E case HOF (A
RE > ST case UL -

switch (S8 TEEEE ) {
case & BTl
B B T T A A
/145 KT T switch HIE;
case HHE2E T2 :
B B2 T T R A
break;//45 WA T switchH]Ef;
default:
8 |- itcase 3 B {E H R B T ISR TR
break;//45 WA T switchH]Ef;




H:FcaseEMEERA

Y EIE ° EB \ ,[ 7 e h case 9.. ) . N
T &R - EJZ; 2H M| F — SWITCh case wmygmmen ..

printf{ "2 B ),

printf{"ZFEE T )
hreak;

printf{"ZE  FWha" )
hreak:

* 100~90{& / 89~80FE / 79~707,
7 6976075 / 59~50T / 49~40
Ik / 39~30C% / 29~20f% /
19103/ 9~11 /035

:f;;: printf{"=FEE 2" );

| switch caset|E % A v
é@gggg%ﬁ/\jg{i{ NIT; $Hmj prinif S )
)FE \ )f: ﬁ% ’ EasepiiLtfc"?r%:e;xn":.;

hreak;
° %[ Score/loé/jzi%%#U éfﬁ \gi Caseﬁ?&tﬁbgﬂﬂ?mﬁfﬂi’ﬂéﬂ *{B9~1 & 0BT [Fl ik - B3Rz Bt
]

>

DJ
f"l"

Uﬂ[ﬁ{lcase : e
A NO 5 \ i_ ﬁf] H9~1 ot Elseprintf("?r%:%%n"};
= R z@ AT % T R e—

defanlt:
printf("EEEFEE ")
hreak;

>

&
ED

|—|—O«:1+

||




switch (score / 10) {
/FEERY100~-308P A (10-9 8% + EitMcaseENE4EA
case 10:
case 9:
printf (" : {B\n");
break;//EEFEIT ,break switchdER;
case 8:
printf("FF : Bin");
break;
case 7:
printf ("FE : Z\n");
break;
case 6:
printf("FH : H\n");
break;
case 5:
printf("3FHE : Twn");
break;
case 4:
printf (" : [B\n");
break;
case 3:
printf("FH : S\n");
break;
case 2:
printf("3FH : B\n");
break;
case 1]
printf ("2  F\n");
break;
case 0:
/R O-0fF 1055 21940 » {89~1 & ORT R » ElRbHEREA DL
if (score I= 0)
printf ("3 : E\n");
else
printf("FH : F\n");
break;
HEAFHI L RER  SAI"SEHR"
default:
printf ("EEHE " );
break;




import java.util.Scanner;
public class scorerank error

|

public static woid main{String[] arga) {

Scanner input = new Scanner{Svetem. in);

int zcore = 0;

D e b u while (score==0) {
Syatem.ont.print{ "85 A SE(EEEN 1 )

gcore = input.nextIint():

if (gcore == 07 {

HH—:%E?[‘E*IU HFYZintfRint » ARLIEER T & int(10~0) ©

syitch (zcore /100

NEEITI*\IUvaQUﬁEﬁ:( 10~0) {855 » EtEcaseENAFEF]

case
case

case

case

case

case

case

case

case

case

case

defanlt:

Vo awiteh

[REERS
1

elze |

-2 L E= N o -] [ LD

Syzten.
Syaten.
Syaten.
Syaten.
Systen.
Syaten.
Syaten.

Syaten.

Systen.

out.

out

out

out

out

ont.

out.

out.

out.

print("%55E .
.printi"2gE ;
print("ZEE
print("ZEE
.printi "8 ;
print{ "= ;
print({"EE
print({"EE

print("=EE

OB DGRBS 0

if (acore =M
System.out.print(”égﬁgi Fin"y;

Syztem.ont.print("ZHE | 2",
Sveten.out.print("EEEE L")

elze

f =100

Syzten.ovt.print{"byvein");

break:
Viewitch
Yiwhile
Vimain
VWiclazs

Bin");
By
2",
Fhn");
Tin");
AN
=hn");
BEin");

gAY,

159~1 & 0B-TE

e Bug{T{o] Bz ? Syntax

error?
.+ $H[E

e How to handle?

AR
K

e Let’s compile & run



if (score<=100 &% score>=90) {

printf("3FEE  {8W");
}

else if (score <90 &% score
printf ("3 : B\n");

}

else if (score <20 &% score
printf{ "3FSE : Zwn");

}

else if (score <70 &% score

printf ("3 : Bwn");
}

else if (score <60 &% score
printf{("3FEEE : T\n");
}

else if (score <50 &% score
printf( "3 : K" );

}

else if (score <40 &% score
printf{"¥FEE : 2\n");

}

else if (score <30 &% score
printf{"3FESE : B\a");

}

else if (score <20 &% score
printf ("3 : F\n");

}

else if (score <10 &% score

printf("3FESE : T\n");

H

else if (score == 0) {
printf{ "3FEEFE : F\W");

}

}=m){

>= 70) {

>= 60) {

>= 50) {

>= 40) {

>= 30) {

>= 20) {

>= 10) {

>0) {

HBEAFII LEER - SA"E|E R

else{
printf( "SIEHIR W");
}

$f

r

v

switch (score / 10) {

IR 100~S08F A (10-9)8% * EitMcas=ENE1E8AE

case 10:

case 9:
printf (" : {B\n");
break;//EEFEIT ,break switchdER;

case 8:
printf("FF : Bin");
break;

case 7:
printf ("% : Zin");
break;

case 6:
printf("FFH : {in");
break;

case 5:
printf("3FHE : Twn");
break;

case 4:
printf (¥ : K" );
break;

case 3:
printf("FH : S\n");
break;

case 2:
printf("3FH : B\n");
break;

case 11|
printf ("2  F\n");
break;

case 0:
/R O-0fF 1055 21940 » {89~1 & ORT RS » ElRbHEREA DL
if (score I= 0)

printf ("3 : E\n");
else
printf("FH : F'\n");

break;

HEAFHI L RER » SAI"S £ 4R

default:
printf ("EEHE " );
break;



limport java.util.Scanner;

public clazs weekname 1 |

Exa m p | e 2 public static wvoid nain{String[ ] args) |

Scanner input = new Scanner(Svetem.ind;

EEEH EE] iﬁtlweek :kgéﬂ
$HUA =SV ? Ij_ WS;Siegfg,Et-Drjinif"iﬂliﬁﬁ%?”);

week = input.nextinti();
if (week == 0 &% week «=7) {
switch (week) {

D.
| Tﬁaua—EEl?H’?—Eﬂ}jaua weekname_1 2322 7
$Fﬂ_r' EEH"L'?:I- Svatem.ont.print("Sondayin");
Al break; ~
unday cage 1: case 17 K/ NIEF?
= H ,LL? Syzten.out.print{"Honday'in");
$HJ P H 2 break:
Llfiratlél_l,-é ” cage 2:
£ AR system.ont.print{"Tuesdayin");
a2 HEZE?3 break:
lednesday cage 3:
o — == e cout.print(” "1;
$H'J..-' ,EEH"L..?"I %3;2;?:1 ont.print("Tednezdavin"™)
hl_u"*day cage 4:
o Syetem.ont.print{"Thursdayin");
ffijiﬁ“li' 2 break;
cage 5:
Svatem.ont.print{"Fridavin");
break;
caze 6
syatem.ont.print{"saturdayin”);
break:
Vol awitch
[REEA
elae
b le Svatem.ont.print("&EEE L");
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